

$$2^3 \cdot 2^2 = 2$$

$$3^2 \cdot 3 \cdot 3^2 = 3$$

$$5^7 \cdot 5^{-5} =$$

$$(-2)^3 \cdot (-2)^2 = (-2)$$

$$4^4 \cdot 4^2 = 4$$

$$3^6 + 3^2 =$$

$$3^2 \cdot 3^4 \cdot 3^{-2} = 3$$

$$7^{12} : 7^{10} = 7$$

$$5^2 \cdot 5 = 5$$

$$(-3)^3 \cdot (-3) = (-3)$$

$$10^{-3} : 10^{-5} = 10$$

$$(3/4) \cdot (3/4)^2 \cdot (3/4)^3 = (3/4)$$

$$5^2 \cdot 5^4 = 5$$

$$(-3)^2 \cdot (-3)^2 = (-3)$$

$$(6^2)^4 = 6$$

$$3^2 \cdot 3^2 = 3$$

$$7^{12} : 7^6 = 7$$

$$8^{12} : 8^8 = 8$$

$$(-7)^5 : (-7)^3 = (-7)$$

$$(-100)^0 : 5^0 =$$

$$5^7 : 5^3 = 5$$

$$(5^3)^4 = 5$$

$$(5 \cdot 2 \cdot 3)^4 = 5 \cdot 2 \cdot 3$$

$$(3^4)^4 = 3$$

$$[(5^3)^4]^2 = 5$$

$$(8^2)^3 = 8$$

$$(9^3)^2 = 9$$

$$2^5 \cdot 2^4 \cdot 2 = 2$$

$$[(2^3)^4]^0 = 1$$

$$2^4 : 2^3 = 2$$

$$2^{-2} : 2^3 = 2^{-5}$$

$$2^2 : 2^{-3} = 2$$

$$2^{-2} : 2^{-3} = 2$$

$$(-3) \cdot [(-3)^3]^2 \cdot (-3)^{-4} = (-3)$$

$$3^3 \cdot 3^7 = 3$$

$$(-4)^3 \cdot (-4)^2 = (-4)$$

$$\sqrt{9} \cdot \sqrt{16} = \sqrt{\quad} =$$

$$\sqrt{81} : \sqrt{9} = \sqrt{\quad} =$$

$$\sqrt{11} \cdot \sqrt{9} = \sqrt{\quad}$$

$$\sqrt{160} : \sqrt{16} = \sqrt{\quad}$$

$$\sqrt{5} \cdot \sqrt{20} = \sqrt{\quad} =$$

$$\sqrt{8} \cdot \sqrt{8} = \sqrt{\quad} =$$

$$(\sqrt{102})^2 =$$

$$\sqrt{80} : \sqrt{5} = \sqrt{\quad} =$$

$$\sqrt{10} \cdot \sqrt{10} = \sqrt{\quad} =$$

$$(\sqrt{47})^2 =$$

$$(\sqrt{7})^2 =$$

$$\sqrt{3} \cdot \sqrt{27} = \sqrt{\quad} =$$

$$\sqrt{9} \cdot \sqrt{9} = \sqrt{\quad} =$$

$$\sqrt{100} : \sqrt{4} = \sqrt{\quad} =$$

$$\sqrt{81} : \sqrt{9} = \sqrt{\quad} =$$

$$\sqrt{75} : \sqrt{3} = \sqrt{\quad} =$$

$$(\sqrt{18})^2 =$$

$$\sqrt{125} : \sqrt{5} = \sqrt{\quad} =$$

$$\sqrt{8} \cdot \sqrt{2} = \sqrt{\quad} =$$

$$\sqrt{16} : \sqrt{4} = \sqrt{\quad} =$$

$$(\sqrt{64})^2 =$$

$$(\sqrt{15})^2 =$$

$$\sqrt{36} : \sqrt{9} = \sqrt{\quad} =$$

$$\sqrt{250} : \sqrt{10} = \sqrt{\quad} =$$